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b) Draw the block diag a von Neumani
computer. Show all major constituents [2 Marks]
c) What is memory and logic performance gap in modern computers? [1 Marks|
A 3 4 . T 2 - 2% A -
d) Name 3 architectural solutions aimed to minimize the effect of the memory and logic
7 of
performance gap. [1 Marks
e) Consider a linearly organized byte-wise sddressable 64 Kbytes of memory device

i

]

5
i. What is the f@tgafw ‘wédézh 0
it. What i
i, If the c 1 bus . signal which is high for read operations an
low for write operations, describe the step by step CPU actions on the Sygtﬁm
bus when executing a write operation. You may also use appropri riate timing

diagrams.

[3 Marks]

) Draw the internal architecture of a typical 16 MByte DRAM organized in 8-bit cel 1l
arrays in a block d am. Show the identified size of a cell array, w '“zdms of address
and data buses, aui ecessary control bus signals. [1 Marks]

1ce. [2 Marks|
hoy ehurs ( vy in a block diagram indicating the
Direct Mapping pm&me‘i@zs K?%mm big k, Line and Tag. 12 Marks]
) Consider the hypothetical 8 byte mem@f}; which is connected to the CPU through
4 Bytes of Cache memory, having 2 Lines of size 2 Words. Size of Word is 1 Byte.
i. How to identify the Word, Block, and Tag by using the memory address? .

3

What is the Tag, Line and Word for the Memory address 57
[2 Marks]
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